49) White light consists of a mixture of wave lengths between 400 nm and 700 nm. If this light passes through water (p
=1.33), what will be minimum wavelength there?

o3 gao19or 3 400 nm 3fiz 700 nm d@ Jre=r aze1 Sef b1 Bropur siafdfee A & Afe a1 gaptor Stet (M =1.33) A Blp2 IsRAr 3 dl asi oYoldd
azorgeRt o= aem ?

[Question ID = 99][Question Description = 149_23_PHY_SEP22_Q49]
1. 400 nm

[Option ID = 393]
2. 300 nm

[Option ID = 394]
3. 350 nm

[Option ID = 395]
4. 450 nm

[Option ID = 396]

50) Real image of an object is obtained on the screen using a convex lens. Now upper-half of the lens is covered with black
paper. What will happen to the image?

fepfl arg @1 arafd® yfafda 3t i1 o1 GRIIPT B2 Yrd o1 SIrar @ 31| o @ SU3 31 -HIPT Pl Pl PRSI A G &1 sirar @ a1 gferfdsa
DI =11 BT ?

[Question ID = 100][Question Description = 150_23_PHY_SEP22_Q50]
1. No image will be formed

D18 yferfdaa oral golor

[Option ID = 397]
2. Half image will be formed

3men yferfdea aolen

[Option ID = 398]
3. Image will be distorted

fdaye (fasfte) yferfdoa doton

[Option ID = 399]
4. Image will be same but less bright

yferfewa agt 2o difcpor ST aat Bt
[Option ID = 400]

Topic:- PCMO1_Chemistry

1) In a crystal, which point defect has no effect on the density of the crystal?
foprea 3 e fiig Sy o1 fgreal & Holca UR ®IF YyIId oldl usdr 37

[Question ID = 101][Question Description = 101_40_CHE_SEP22_QO01]
1. Schottky defect

glfceht gy

[Option ID = 401]
2. Frenkel defect

Bold oy

[Option ID = 402]
3. Interstitial defect

sicRIpIef gy

[Option ID = 403]
4. Stoichiometric defect

st o
[Option ID = 404]

2) The correct relationship between free energy change in a reaction and the corresponding equilibrium constant, K. is



fop=tt sifsifepzn 9 b it uf¥acder siik 3AD FHera ARazen Rericw Ke & da @l Hder 3:

[Question ID = 102][Question Description = 102_40_CHE_SEP22_Q02]
1. -AG =RT InKc

[Option ID = 405]
2. -AGO=RT InKc

[Option ID = 406]
3. AGC° =RT lnKc

[Option ID = 407]
4. AG =RT lnKc

[Option ID = 408]

3) 500 mg of a protein is dissolved in water to make 50.0 mL of a solution. If this solution has an osmotic pressure of 13.3
mm Hg at 27° C, what is the molar mass of protein?
Given (R = 0.0821 L atm mol"' K and 760 mm Hg = 1 atm)

500 mg giéiar @1 50.0 mL frerer Jotrol o fere urell 3 dlcrr srn 3 Al 31 ferIel @I RRRRYI g 27 ° C uz 13.3 mm Hg 3, al qidiar @1
VI RIS a=IT 37
feam srm 3 (R = 0.0821 L atm mol' K'* and 760 mm Hg = 1 atm)

[Question ID = 103][Question Description = 103_40_CHE_SEP22_Q03]
1. 10,074.3 g mol"

[Option ID = 409]
2. 16,074.3 g mol!

[Option ID = 410]
3. 20,768.3 g mol'!

[Option ID = 411]
4. 14,074.3 g mol’

[Option ID = 412]

4) Work done in free Expansion of an ideal gas is
U 3G9I 313 B b YARYI 9 fbar sRn BRI 3t

[Question ID = 104][Question Description = 104_40_CHE_SEP22_Q04]
1. Zero

oot

[Option ID = 413]
2. Positive

EollcdAdDd

[Option ID = 414]
3. Negative

SBUIICHD

[Option ID = 415]
4. Infinity

3lolodd

[Option ID = 416]

5) Which of the following statement is correct?
forgsifeiRae af A Dol AT Dol AT 37

[Question ID = 105][Question Description = 105_40_CHE_SEP22_Q05]
1. The effect of catalyst on the activation energy of a reaction is reaction specific.

fapait siffrfpan &bt afdxRIor Ssoif W IR T Yorra sifdifdpanr fady dir &

[Option ID = 417]
2. On adding a catalyst to a reaction, the activation energy increases.

ot sifdifopen 3t SR ot Bictol W AfdRr it a6 St 3

[Option ID = 418]
3. The activation energy remains the same on adding a catalyst to a reaction.



fapstt siffrfepan 3t SR el w2 JAfdxRIor Soif Wil &t &

[Option ID = 419]
4. On adding a catalyst to a reaction, the activation energy decreases.

2t sifdifonen 3 3R RBrerel w2 Al 3ot aat 8 siredl 3
[Option ID = 420]

6) 'Leclanche cell' is also known as:
CIrctio AT Y sl SIIeT 3 -

[Question ID = 106][Question Description = 106_40_CHE_SEP22_QO06]
1. Mercury Cell

DS At

[Option ID = 421]
2. Dry Cell

9B et

[Option ID = 422]
3. Lead cell

s el

[Option ID = 423]
4. Nickel-cadmium cell

fordet - Bsfirmr et
[Option ID = 424]

7) The statement which is not correct in regarding of ‘order of reaction'?
fop=i ‘sifdrfepen &1 i’ o dder A foerfciRad af A wlel AT Dol 3RIT 3 ?

[Question ID = 107][Question Description = 107_40_CHE_SEP22_Q07]
1. It is the sum of powers of molar concentrations of reacting species in the rate equation of the reaction.

g SifdifepRn @ 2 Jeftasvr I sifdifcprmofier ysnferll bt el JAigar d ol BT AT 3

[Option ID = 425]
2. It may be a whole number, zero or fractional.

8 ub YUl AR, 9fovl, AT fBicolcard 8 At 3

[Option ID = 426]
3. It cannot be experimentally determined.

3 QRIBIAEID U A forerffdd ordt fopem S Jraer 8

[Option ID = 427]
4. It is meant for the reaction and not for its individual steps.

g 3ifdfRn @ fére & of fb 3D Afepord arull d fere
[Option ID = 428]

8) Which of the following is a distinct feature of physiosorption?
forgarfeiRaa 3 A1 et 21 siifere sif2rofaur &b fafdrse fardraar &7
[Question ID = 108][Question Description = 108_40_CHE_SEP22_Q08]

1. It is caused by chemical bond formation

g IRMRIID el O Folol D DIRVI Bl 3

[Option ID = 429]
2. It is highly specific in nature

g srcafera fafore yapfer wor &
[Option ID = 430]

3. lItisirreversible in nature
8 Slojrapgviier yapfer &1 8

[Option ID = 431]
4. Only favours at high temperature



g dacl Icd dld W Bl 3
[Option ID = 432]

9) The amount of heat required to raise the temperature of a body by 1°C is called its
fop=il ftis @ arusirer of 1°C ad agrol @ e a9 Star bl AL dacird 3.

[Question ID = 109][Question Description = 109_40_CHE_SEP22_Q09]
1. Calories

et

[Option ID = 433]
2. Entropy

wogrdt

[Option ID = 434]
3. Heat capacity

EiTiitaiiesig

[Option ID = 435]
4. Enthalpy

wodlctt
[Option ID = 436]

10) When two ideal solutions each with volume V are combined, what is the volume of the resultant solution?
SId V 3IRIdol d1a <l 3icef facrreil @l frcmrn sirar 3, al uf¥viefl facrIot @1 siRIdoeTr dem?

[Question ID = 110][Question Description = 110_40_CHE_SEP22_Q10]
1. V

[Option ID = 437]
2. 2V

[Option ID = 438]
3. Greater than 2V

2V 3 aiferes

[Option ID = 439]
4. Less than 2V

2V 3 oA
[Option ID = 440]

11) At the same temperature, the average molar kinetic energy of N; as KE{ and CO as KE;. Select the correct option.
316l aradrel R Np &t siiera dler s1ferst et KEq 3siiz CO &t KE2 3 318 ferapeu ot o :

[Question ID = 111][Question Description = 111_40_CHE_SEP22_Q11]
1. KE{ > KEz

[Option ID = 441]
2. KEq < KEy

[Option ID = 442]
3. KEr = KE;

[Option ID = 443]
4. Insufficient information given

SIRIT STerbRt <t o1 3
[Option ID = 444]

12) Maximum work is obtained by the system; when the changes takes place during the process are
formra gRI @R siferpas iar 8, Sia Yapd @ SiRiel uf¥ade aiar 3 :

[Question ID = 112][Question Description = 112_40_CHE_SEP22_Q12]
1. lIrreversible

Sigfrapdriter



[Option ID = 445]
2. Reversible
SeauflRr

[Option ID = 446]
3. Adiabatic

Tgr

[Option ID = 447]
4. lsobaric

AdAGTdR
[Option ID = 448]

13) Find the overall order of the reaction, where Rate = k[A][B]"
sif3tfipen bt 31919] DI DI Ul eI, Siai sifdifapen & arfer= k[A][B]!
[Question ID = 113][Question Description = 113_40_CHE_SEP22_Q13]
1.1

[Option ID = 449]
2. 1

[Option ID = 450]
3.0

[Option ID = 451]
4. Not defined

ufdenfte ordf bt S Japedt &
[Option ID = 452]

14) What is the order of reaction, when the initial concentration 0.24 M is reduced to 0.12 M in 10 hours and to 0.06 M in
20 hours.
siffifepR bt ®ife arm 3, s gritie Aigar 0.24 M 3 ace= 10 &2 31 0.12 M 3iik 20 s # 0.06 M 3 SIrcdt 3 ?

[Question ID = 114][Question Description = 114_40_CHE_SEP22_Q14]
1. Zero order reaction

9[oeI pife Bl arfdrfpar

[Option ID = 453]
2. First order reaction

e aife b sifdifepzm

[Option ID = 454]
3. Second order reaction

fscller BIR B arfdifigen

[Option ID = 455]
4. Half order reaction

aieft ife b arfdrfenzm
[Option ID = 456]

15) The K; for the reaction, 2NOCI (g) 2 2NO (g) + Clz (g) is 0.027 atm at 673 K. K. for the reverse reaction is
2NOCI (g) 2 2NO (g) + Cl; (g) sifdrfepen & fere Kp 673 K ara uz 0.027 atm 3 fadie siftifepen o fére K. 3

[Question ID = 115][Question Description = 115_40_CHE_SEP22_Q15]

1. 1500.8 mol |1

[Option ID = 457]
2. 2040.81 (mol '1)!

[Option ID = 458]
3. 2565.7 (mol I'1)"1

[Option ID = 459]
4. 2040.81 mol U

[Option ID = 460]



16) Le Chatelier’s principle is applicable to:
- 91ifere o1 Rrgia ey 3tar 3t

[Question ID = 116][Question Description = 116_40_CHE_SEP22_Q16]
1. only homogeneous chemical reversible reactions

Dact WPl IRIRIID Icapdviier sifdifepisii u

[Option ID = 461]
2. only heterogeneous chemical reversible reactions

Dact fawerstt RIRIors Scapgvier sifdifepemsii w

[Option ID = 462]
3. only physical equilibria

Dact iiferd AT @

[Option ID = 463]
4. all systems, chemical or physical in equilibrium

219ft forprll, 2rRIrIGID o ilferes Jeerazer 3

[Option ID = 464]

17) The statement about the electrochemical cell is stated correct.

fErRRIRIIE Ac & aR 3 AT werr 3:

[Question ID = 117][Question Description = 117_40_CHE_SEP22_Q17]
1. Cell potential is an extensive property

et f91q v fadlof st &

[Option ID = 465]
2. Cell potential is an intensive property

et frera v 180t T 3

[Option ID = 466]
3. The Gibbs free energy of an electrochemical cell is an intensive property

RgRRIrfRiD Jet Bt Bisst b Iolf Ub oI5l T 3

[Option ID = 467]
4. Gibbs free energy cannot be defined for an electrochemical cell

frgrRrRirifers Jet @ fore Brest #cb Soif ufdenfia ol &t o w3
[Option ID = 468]

18) Identify the isomerism in between - [Zn(NH3)4][CuCls] and [Cu(NH3)4][ZnCl4]
[Zn(NH3)4][CuCl4] siiz [Cu(NH3)4][ZnCl4] &t 3 semarraar &1 usaret w3

[Question ID = 118][Question Description = 118_40_CHE_SEP22_Q18]
1. Linkage isomerism

qerofl JeATaRIaAr
[Option ID = 469]
2. lonisation Isomerism

SIRIolol  AATdRId AT

[Option ID = 470]
3. Coordination Isomerism

SURIGIRISTol JAATTRIAAT
[Option ID = 471]
4. Solvate Isomerism

farcTRIGRIIST6T JAHTRIAAT
[Option ID = 472]

19) Which one of the following is/are outer orbital complex/es?

A. [Mn(CN)e]*>



B. [Co(C204)3]>
C. [MnCle]*
D. [Ni(H20)e]*

Choose the correct answer from the options given below:

forgotferRaa 3 A wlor-a11/A a16dt Wl g 3/37?)
A. [Mn(CN)6]*
B. [Co(C204)3]*
C. [MnCle]*
D. [Ni(H20)6]%
ofi fou o1 fyeseul 3 31 & Fa= goi ¢
[Question ID = 119][Question Description = 119_40_CHE_SEP22_Q19]
1. Aand B only
et A 3z B

[Option ID = 473]
2. BandConly

Dact B sz C

[Option ID = 474]
3. Cand D only

Dact C 3z D

[Option ID = 475]
4. Conly

Dact C
[Option ID = 476]

20) Magnetic moment (in B. M.) of Fe3* ion is:

Fe3* smrrel 1 gacbiar smguf (B.M. i) 3:

[Question ID = 120][Question Description = 120_40_CHE_SEP22_Q20]
1. 2.84

[Option ID = 477]
2. 5.92

[Option ID = 478]
3. 3.87

[Option ID = 479]
4. 0

[Option ID = 480]

21) Formula of Pyrolusite ore is:

URRICIATST 3R—IFD I Y 3 :

[Question ID = 121][Question Description = 121_40_CHE_SEP22_Q21]
1. MnOy

[Option ID = 481]
2. Mn0

[Option ID = 482]
3. Mn;07

[Option ID = 483]
4. KMnOg4

[Option ID = 484]

22) Which one is the correct order for electromagnetic radiations based on frequency?



rgfer @ seR WR el geadkn fafdszoil o1 wd a wlet a1 3 ?

[Question ID = 122][Question Description = 122_40_CHE_SEP22_Q22]
1. Gamma rays > X-rays > Microwaves

I fepul > UaRI-Y > g AL

[Option ID = 485]
2. X-rays < Gamma rays < Microwaves

BARA-3 < Sl fapul < Jgat At

[Option ID = 486]
3. Gamma rays > Microwaves > X-rays

11T fapvt > g APl > TRI-Y

[Option ID = 487]
4. Gamma rays < X-rays < Microwaves

I febUl < UaRI-3 < g sl
[Option ID = 488]

23) Which one of the following statements is incorrect about H3BO3?
forgoifciRaa 3 A dlar 211 deret H3BO3 @ arR 3 sRIca 37

[Question ID = 123][Question Description = 123_40_CHE_SEP22_Q23]
1. It is a strong tribasic acid.

B UP Ydcl CBARID 3@ &

[Option ID = 489]
2. It is prepared by acidifying an aqueous solution of borax.

B AT D SIciler fAcrIer o 3eliad wd ARIR b st 8

[Option ID = 490]
3. It has a layer structure in which planar BO3 units are joined by hydrogen bonds.

A Uap U 2ol Bt & SRl dcfier BO3 saorseil srssioror deil A gt 2t &

[Option ID = 491]
4. It does not act as proton donor as it acts as a Lewis acid by accepting hydroxyl ions.

g Gicfel oIl @ ¥4 31 BRI oidl Bl & wRIifth A6 asifdRict ARG B IdPR BID TS 3@l D U I DRI Bl &

[Option ID = 492]

24) The element, Z=115 (atomic number) belongs to X group and Y period. X and Y are respectively
daca Z=115 (uzav] gpgtics) e X 3 srad Y A Jg«fira 3 | X iR Y agoror: 3 ¢

[Question ID = 124][Question Description = 124_40_CHE_SEP22_Q24]
1. 14and7

14 32 7

[Option ID = 493]
2. 15and 7

15 3R 7

[Option ID = 494]
3. 16and 7

16 3z 7

[Option ID = 495]
4. 17 and 7

17 s 7
[Option ID = 496]

25) Oxidation state of Na and O in Na;0; are respectively:
Na,0; & Na 3iiz O &l sifa=fics2ur srazen aror: &

[Question ID = 125][Question Description = 125_40_CHE_SEP22_Q25]
1. +1, -1



[Option ID = 497]
2. -1, +1

[Option ID = 498]
3. +1,-2

[Option ID = 499]
4. 42, -2

[Option ID = 500]

26) Solvay process is used for the synthesis of:
JHicd yaysr oI gRIeI foad sy o5 fere fosan simar 37

[Question ID = 126][Question Description = 126_40_CHE_SEP22_Q26]
1. NaHCO3

[Option ID = 501]
2. NaOH

[Option ID = 502]
3. NayCO3

[Option ID = 503]
4. NaCl

[Option ID = 504]

27) Match the following

List | List Il

A. K I. Brick Red

B. Ca Il. Apple Green
C. Sr Ill. Crimson

D. Ba IV. Violet

Choose the correct answer from the options given below:

forgotferRaa 1 Jafera o3 :
ret -1 Rreht -1

A. K I. $e St ara
B. Ca 1. 39 Stert &1
C. Sr ll. s1&ar ciret
D. Ba IV. Joroft

offc feu aru fpedl 3 A 38 3R gfore :

[Question ID = 127][Question Description = 127_40_CHE_SEP22_Q27]
1. A-lll, B-11, C-1V, D-I

[Option ID = 505]
2. A-IV, B-lll, C-1, D-lI

[Option ID = 506]
3. A-IV, B-I, C-IlI, D-II

[Option ID = 507]
4. A-lll, B-1, C-Il, D-IV

[Option ID = 508]

28) The oxidation states shown by Samarium are
A. +1
B. +2
C. +3



D. +4

Choose the correct option:

AARE grI ARt srit sifazfiaszur sraven 3/3 :
A. +1
B. +2
C. +3
D. +4
it fou o1 frapeul 3 2 & 3a= goi ¢
[Question ID = 128][Question Description = 128_40_CHE_SEP22_Q28]
1. Aand B only
@dct A 3 B

[Option ID = 509]
2. BandConly

@act B sie C

[Option ID = 510]
3. Cand D only

@act C 3k D

[Option ID = 511]
4. Band D only

Dact B siiz D
[Option ID = 512]

29) Which of the following statement is incorrect for amorphous solids?
forgaiferRaa 3 2 sifipzeciRl O1k1 @ foTu Dl AT T BT 3R 37

[Question ID = 129][Question Description = 129_40_CHE_SEP22_Q29]
1. When cut with a sharp edged tool, they cut into two pieces with irregular surfaces

T &R arel 3lioIR A PIcol W A SfORIFNT Actal ardl Gt gapst 3 de S &

[Option ID = 513]
2. They soften over a range of temperature

A A D b G 3 ef3- €Y o 81

[Option ID = 514]
3. They do not have definite heat of fusion

Solchl aIcTol 3t forfae oral aledt &

[Option ID = 515]
4. They are anisotropic in nature

3 IS Yoict & 8l &
[Option ID = 516]

30) Which of the following is a cyclic oxoacid?

forgotferRaa 3 A ot AT Taskr sifaAsEa 3?7

[Question ID = 130][Question Description = 130_40_CHE_SEP22_Q30]
1. H4P,07

[Option ID = 517]
2. H4P20¢

[Option ID = 518]
3. HePsO1s

[Option ID = 519]
4. H3P309

[Option ID = 520]



31) Graphite is a good conductor of electricity due to its:

@D DRI fed o1 srcaT Jarers &

[Question ID = 131][Question Description = 131_40_CHE_SEP22_Q31]

1. cationic nature

OIHD Yaiel

[Option ID = 521]
. anionic nature

SBUICHD Yapfer

[Option ID = 522]
. free valence electrons

D JRASIDAT Selaciol
[Option ID = 523]
. lone pair of electrons

sclacioll @ UaIht Yoait
[Option ID = 524]

32) The hybridisation of central iodine atom in I3 is

13" 3 B RNSToT URAIYY BT ADBUT 3-

[Question ID = 132][Question Description = 132_40_CHE_SEP22_Q32]
1. sp3d?

[Option ID = 525]
. sp3d

[Option ID = 526]
. sp?

[Option ID = 527]
. dZsp3

[Option ID = 528]

33) Match the following:

List | List Il
Compounds [Nature

A. CO I. Acidic

B. CO; Il. Basic

C. TI,03 lll. Amphoteric
D. SnO2 IV. Neutral

Choose the correct answer from the options given below:

RroiRaa @t Jafra o3

et | fr I
RUCY gepfer

A. CO I swrciier
B. CO; II. sister
C. TI,03 11, srererif
D. SnO; IV. Sorefier

offc feu aru fpedl 3 A 8l 3R gforu :

[Question ID = 133][Question Description = 133_40_CHE_SEP22_Q33]
1. A-1V, B-1, C-llI, D-lI



[Option ID = 529]
2. A-IV, B-1, C-ll, D-llI

[Option ID = 530]
3. A-lv, B-lI, C-I, D-lll

[Option ID = 531]
4. A-l, B-IV, C-II, D-lII

[Option ID = 532]

34) The products formed after the partial hydrolysis of XeF¢are
XeF ¢ @ 31ifdre Sict 3aEcsl @ €16 Jolol dIcl 3cUIG 8.

[Question ID = 134][Question Description = 134_40_CHE_SEP22_Q34]
1. XeOF4 and XeOF; only

Dact XeOFy4 aiiz XeO,F;

[Option ID = 533]
2. XeOF4and XeOs3 only

Dact XeOF4 3iiz XeO3

[Option ID = 534]
3. XeF4 and XeO;F; only

Dac XeF4 siiz XeO;F;

[Option ID = 535]
4. XeF4and XeOs only

dact XeF4 3iiz XeO3
[Option ID = 536]

35) Select the incorrect statement
IRICT Dol DI ol ©

[Question ID = 135][Question Description = 135_40_CHE_SEP22_Q35]
1. Quinoline is an aromatic compound

qdioliciier v WidieD AiBmD 8

[Option ID = 537]
2. lIsoquinoline is an aromatic compound

sisAadioiclior v VAR Afdrd 2

[Option ID = 538]
3. Phenantharene is not an aromatic compound

ftboloreffor Gep BRIdtie 1D o1t &

[Option ID = 539]
4. Naphthalene is an aromatic compound

olwerctiol oo DD AP 3
[Option ID = 540]

36) In ihe following chemical reaction:

Frafiiis & w8 Temie sfufmar s
HiC.__H

:E + Br - S Product "P"
HsC H

The total number of possibie sierenisomers for product ‘P are

gdig P & fowwyfad BEn saees steo deEn a-

[Question ID = 136][Question Description = 136_40_CHE_SEP22_Q36]
1. 2



[Option ID = 541]
2. 4

[Option ID = 542]
3.1

[Option ID = 543]
4. 3

[Option ID = 544]

37) Select the correct option for the compound having least pKa value
gotadl pKa ire1 arer AT @ fere 18l fameu ot ol :

[Question ID = 137][Question Description = 137_40_CHE_SEP22_Q37]
1. 3-Nitrophenol

3 - oIsgIbleifer

[Option ID = 545]
2. Phenol

foifet

[Option ID = 546]
3. 4-Nitrophenol

4 - oIgAbotict

[Option ID = 547]
4. Ethanol

wdoifel
[Option ID = 548]



38) Miatch the Tallowing

List | Listll
oH o
i
M
1. Histarmine - /@J\I/ WJ\
"‘ﬁ w2
= (5]
N
2 Phenelzine 7 i
T
HMN-- i
b
NHNH;
3. Chloroxylenol
C
OH
4. Chlpramphenicel O
H,C tH,
d cl

Chogse ihie correct answer from the options given below:

FrafifEs = gafte B4
RS el
oH ct
H
: N
1 B2 . J::zjr
O“‘-r{ : oo ®
a 4
N
/
2 TS ( ‘ NH,
b, H
NHNH;
5 -‘-{-. ﬁ L @/\/
c.
OH
4 FEiERm T
H,C CH,
d cl

EEr e T

[Question ID = 138][Question Description = 138_40_CHE_SEP22_Q38]

1.

2.

3.

4.

1-b, 2-d, 3-c, 4-a

[Option ID = 549]
1-a, 2-b, 3-c, 4-d

[Option ID = 550]
1-d, 2-c, 3-b, 4-a

[Option ID = 551]
1-b, 2-c, 3-d, 4-a

[Option ID = 552]



39) Which of the following compounds can yield only one monochlorinated product upon free radical chlorination?
fogotferRaa 3f 3 PBlet AT ABIB b JYeTd TASIoBUT UR dact Th ANTANGRID ICUIG SdT 37

[Question ID = 139][Question Description = 139_40_CHE_SEP22_Q39]
1. 2, 2-Dimethylpropane
2, 2-sEafeeiel

[Option ID = 553]
2. 2-Methylpropane

2 -Aifereqiiel

[Option ID = 554]
3. 2-Methylbutane

2-ARcrRer

[Option ID = 555]
4. n-Butane

N-Sgeor
[Option ID = 556]

40) The optically active compound among the following-
forrarferRaa 3 olar 21 gavr Afdpa Aifdre 3-

[Question ID = 140][Question Description = 140_40_CHE_SEP22_Q40]
1. Isobutyric acid

SSAIRICD 3¢l

[Option ID = 557]
2. Beta-chloropropionic acid

dier- aeRIQtRN oD set

[Option ID = 558]
3. Alpha-chloropropionic acid

3CWI- FCARIGIURNISID et

[Option ID = 559]
4. Propionic acid

QftRIforD 3@t
[Option ID = 560]

41) In the electrophilic substitution reaction of chlorobenzene, chlorine act as:
aclRIdsilel &l sclagiorpll gferenue siffifdpan 3, acli¥iel ®RI war 3

[Question ID = 141][Question Description = 141_40_CHE_SEP22_Q41]
1. Deactivator of benzene ring and ortho/para director

oot acrr @ frftaradf iz sifelf/dar Brdeft

[Option ID = 561]
2. Activator of benzene ring and ortho/para director

oot acrr @ Aftarrasaf siiz sifeit/ ar BrSoft

[Option ID = 562]
3. Activator of benzene ring and meta director

Joflor acrr @ Auftaprasadf sz der fordoft

[Option ID = 563]
4. Deactivator of benzene ring and meta director

ofter aerr @ forftazradf siie et fordoft
[Option ID = 564]



42) Forthe given reaction

1. Bleum
@ A
2. Na@H {Major product)

Alls
g 712 +fifeem & R
1. e
® A
2. NaOH (W 3TE)
PESTR AR
[Question ID = 142][Question Description = 142_40_CHE_SEP22_Q42]
1. Phenol
fioifer

[Option ID = 565]
2. Sodium phenoxide

AfSAA fWoifamss

[Option ID = 566]
3. Quinone

adioflot

[Option ID = 567]
4. p-Cresol

p - @kifer
[Option ID = 568]

43) Williamson synthesis does not encourages for the preparation of ether, if the alkyl halide is
fafereter Fiea3uvr fafer $er ol golrel & fere Yiya oidl wear 3, afe dfewar Sarss aiar &-

[Question ID = 143][Question Description = 143_40_CHE_SEP22_Q43]
1. (CH3)3Br

[Option ID = 569]
2. CH3CHyCH,Br

[Option ID = 570]
3. CHsBr

[Option ID = 571]

Br
4 ©/\/
[Option ID = 572]

44) Etard reaction is carried out for the conversion of

[Question ID = 144][Question Description = 144_40_CHE_SEP22_Q44]
1. Acetonitrile to acetaldehyde

wAiclemsersa 3 Riltfesass

[Option ID = 573]
2. Benzoyl chloride to benzaldehyde

YoSlIScT TCRIES A AoOICSEIES

[Option ID = 574]
3. Toluene to benzaldehyde



Cheggor 31 A sarEs

[Option ID = 575]
4. Benzene to benzaldehyde

oofter A Jooifesarss
[Option ID = 576]

45) Which of the following compound has highest pKa value in aqueous phase?
forraiferRaa 3 A1 v =iifdres @1 pKa iret Siefir yrawen 3 siférasasr 37

[Question ID = 145][Question Description = 145_40_CHE_SEP22_Q45]

1. (CzHs)NH

[Option ID = 577]
2. (CaHs)3N

[Option ID = 578]
3. CH3NH;

[Option ID = 579]
4. CyHsNHy

[Option ID = 580]

46) Pyridoxine is
fafssiferTe drar 3 :
[Question ID = 146][Question Description = 146_40_CHE_SEP22_Q46]
1. Vitamine Bg
farerférer Bg

[Option ID = 581]
2. Vitamine B¢

frerfdror B4

[Option ID = 582]
3. Vitamine By

farerfdror By

[Option ID = 583]
4. Vitamine By

fererforer B12

[Option ID = 584]

47) Which of the following cannot be prepared by Gabriel phthalimide synthesis?
forgoifciRaa 3 A dlar ifRIcT Aferrrss WSYUVT GRI TolRN o181 SIT ADAT 7

[Question ID = 147][Question Description = 147_40_CHE_SEP22_Q47]
1. Butylamine

sfecfdior

[Option ID = 585]
2. Isopropylamine

iso-Qftef3ior

[Option ID = 586]
3. 2- Phenylethylamine

2 -wforerfererafitor

[Option ID = 587]
4. N-methylbenzylamine

N-AfRrcrfSsierdfitor
[Option ID = 588]

48) Soap do not work is hard water due to formation of



[Question ID = 148][Question Description = 148_40_CHE_SEP22_Q48]
. C47H35COOH

[Option ID = 589]
2. Cq7H35CONa

[Option ID = 590]
3. (C47H35C00),Ca

[Option ID = 591]
4. (C15H31C00)2Ca

[Option ID = 592]

49) Which of the following is not example of elastomers?
forgotferRad 3 A wiol seIR<IIA @1 3¢BRUI o181 37
[Question ID = 149][Question Description = 149_40_CHE_SEP22_Q49]
1. Terelyne
[easic

[Option ID = 593]
2. Buna-S

ot - S

[Option ID = 594]
3. Buna-N

oot - N

[Option ID = 595]
4. Neoprene

foraigtor
[Option ID = 596]

50) Select the incorrect statement
3RICT ol DI ol :

[Question ID = 150][Question Description = 150_40_CHE_SEP22_Q50]
1. Photochemical smog has high concentration of oxidising agents.

YDI9I RARIOID ¢ Dla2 3 MafibrRd! b Ica Aigar aldt 3

[Option ID = 597]
2. Photochemical smog occurs in humid climate.

YD1 RARIGID €91 DIaA oW SIcTdry It Bl

[Option ID = 598]
3. Classical smog is a mixture of smoke, fog and sulphur dioxide.

AR EFT DIGA g, Pla? 3R Acw2 SwE3ifaass a1 fropn air 3

[Option ID = 599]
4. Ozone is a powerful eye irritant.

3iiGllel Beb Y 3ifxdl 3t Sfcfol ol arell &

[Option ID = 600]
Topic:- PCMO1_Maths

1) Given, n(4) = 50,n(B) = 30,n(ANB) =10 thevae oin[(A—B) U (B— 4)] is
2 n(4) = 50,n(B) = 30,n(ANB) = 10 #n[(A—B) U(B— &) == 2

[Question ID = 151][Question Description = 101_90_MAT_AUG22_Q01]
80 [Option ID = 601]
70 [Option ID = 602]
60 [Option ID = 603]
50 [Option ID = 604]

A W N -



